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Notes: Inverse Functions

Name___________________________________
©r N2a0K1p9r NK^uhtraX vS\oWfBtwwiaCrMeZ [LWL]Cm.[ G HAYlllK OrViYgchntRsU ]r\eOsQegrGv[eSdj.

-1-

Identify the vertical asymptotes, x-intercepts, horizontal asymptote, domain, and range of each. 
Then sketch the graph.
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Name___________________________________
©h T2v0S1S9l MKpuDt`at SSGo`fftgwnaIrwen ZLWLMCN.t P yAzlkl_ Ir[iFgihpt^sx ur]emsEeHrsvOehdm.

-1-

Identify the vertical asymptotes, x-intercepts, horizontal asymptote, domain, and range of each. 
Then sketch the graph.
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8 Vertical Asym.: x = 0
Horz. Asym.: y = 0
X-intercepts: None
Domain: 
  All reals except 0
Range: 
  All reals except 0
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8 Vertical Asym.: x = 0
Horz. Asym.: y = -1
X-intercepts: 1
Domain: 
  All reals except 0
Range: 
  All reals except -1
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8 Vertical Asym.: x = 3
Horz. Asym.: y = 0
X-intercepts: None
Domain: 
  All reals except 3
Range: 
  All reals except 0
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4)  f (x) = 
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Horz. Asym.: y = 3

X-intercepts: -
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  All reals except -4
Range: 
  All reals except 3
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Horz. Asym.: y = 0
X-intercepts: None
Domain: 
  All reals except 0
Range: 
  All reals except 0
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8 Vertical Asym.: x = 0
Horz. Asym.: y = 0
X-intercepts: None
Domain: 
  All reals except 0
Range: 
  All reals except 0
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7)  f (x) = 
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8 Vertical Asym.: x = 2
Horz. Asym.: y = 0
X-intercepts: None
Domain: 
  All reals except 2
Range: 
  All reals except 0
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8 Vertical Asym.: x = -4
Horz. Asym.: y = 0
X-intercepts: None
Domain: 
  All reals except -4
Range: 
  All reals except 0
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8 Vertical Asym.: x = 0
Horz. Asym.: y = 1
X-intercepts: -4
Domain: 
  All reals except 0
Range: 
  All reals except 1
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10)  f (x) = 
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8 Vertical Asym.: x = 2
Horz. Asym.: y = -1
X-intercepts: 5
Domain: 
  All reals except 2
Range: 
  All reals except -1
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8 Vertical Asym.: x = -3
Horz. Asym.: y = -1
X-intercepts: -5
Domain: 
  All reals except -3
Range: 
  All reals except -1
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Horz. Asym.: y = 2
X-intercepts: 1
Domain: 
  All reals except -1
Range: 
  All reals except 2


